
Sada p°íklad· na 4.-5. týden

1. Spo£t¥te lim
n→∞

n2 + n+ 1

4n3 − n
.

2. Spo£t¥te lim
n→∞

5n3 − n2

n3 − 7
.

3. Spo£t¥te lim
n→∞

3n + 7n

n2 + 6 · 9n
.

4. Spo£t¥te lim
n→∞

2n + n17

n! + 5n
.

5. Spo£t¥te lim
n→∞

√
n3 − 2n2 + 1 + 3

√
n4 + 1

4
√
n6 − 6n5 + 2 + 5

√
n7 + n3 + 1

.

6. Spo£t¥te lim
n→∞

(n+ 1)311 − n311

(n+ 3)311 − (n+ 5)311
.

7. Spo£t¥te lim
n→∞

√
n+ 1−

√
n.

8. Spo£t¥te lim
n→∞

n3
√
n2 + 1− n
n2 + 1

.

9. Spo£t¥te lim
n→∞

n(
√
n2 + 3− 3

√
n3 + 5).

10. Rozhodn¥te, zda existuje lim
n→∞

(−1)n
√
n(
√
n+ 1−

√
n).

11. Spo£t¥te lim
n→∞

n
√
1 + 2n.

12. Spo£t¥te lim
n→∞

n
√
n+ 3n + 7n.

13. Spo£t¥te lim
n→∞

an, kde a1 =
√
2, an+1 =

√
an + 2, n ≥ 1.

14. Rozhodn¥te, zda existuje lim
n→∞

an, kde a1 = 1, an+1 = an + 1
an

, n ≥ 1.

15. Spo£t¥te lim
n→∞

an, kde a1 = 2, an+1 = 2− 1
an

, n ≥ 1.

16. Spo£t¥te lim
n→∞

an, kde a1 = 1, an+1 = an+4
an+1 , n ≥ 1.

17. Spo£t¥te lim
n→∞

1 + q + q2 + · · ·+ qn, |q| < 1.

18. Spo£t¥te lim
n→∞

1

1 · 2
+

1

2 · 3
+ · · ·+ 1

n(n+ 1)
.

19. Najd¥te lim sup
n→∞

a lim inf
n→∞

pro an =
n− 1

n+ 1
cos

2

3
nπ.

1


